POLYCET-2017

I A RO ORI wE e 317488

Hall Ticket l Signature of
Number the Candidate -
Time : 2 Hours Total Marks : 120

-

Note : Before answering the questions, read carefully the instructions #ven on the OMR sheet.
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SECTION—I : MATHEMATICC (Kiedc 7°50)

1. Ii“f,=.i1r1{.*’t-i~ﬂ=i and EDE{A—E]=—1, then £ZB=

;) )
X 1 1
gin(A+ B=— 530dvcos(A- B =— wol LB =
(A + B) 5 (A- B 7
(1) ©60° (2) 45° [3) 3B° (4) 0O°
2. If sinB + cos® = /2 then 8 =
sinf + cosf = /2 wox®H 6 =
(1) 0° (2) 30° (3) 45° (4) 60°
3 1- tan? 30° _
1+ tan? 30°
1 ] J3
1 - 2 — 3 — 4 1
(1) 5 (2) ) (3) 5 (4)
4. cos* 8 -sin* 8 = .
(1) cos?26-sin®6  (2) 2cos?6-1 (3) 1-2sin?0 (4) None (D& m&o)

5. The angle of elevation of the top of the cliff from a point 300 m from its foot is 60°. Then the
height of the ¢liff i

L% ol ety e fiod 300 m e wood Sl P ey 60° & S'red’ Bl Sod by
200 300

(1) 2004/ (2) = (3) 30043 (4) 7
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6. The angle of elevations of the top of a tower from the top and foot of a pole ¢! height 10 m are

30° and 60°. Then the height of the tower is

10 m &% o Jogio B o Bodalin wilb Fme Mol b B &g Eeres 307 1\a0un 60° wond
wnb My JoB?

(1) 5m 2) 10 m 3) 15 m (4) 20 m

7. The set of all possible events is called

(1) event (2) impossille svent
(3) sample space (4) Nene
eute Boe 08 =

8. From a deck of 52 cards, a card is drawn a! rancom  then the probability of getting a red king
is ;

52 e Ko 2 1Y e Hood P O wfoils Sep

1 2 3 .
(1) %6 (2) i3 (3) 26 (4) None (28 =)

9. If P(A) = % then P(A)=

_4 7 -
PlA) = - waxss P(A)

19 2 M) 13
(1) 5= (2) = (3) = (4) None (08 o)

10, The probability of getting 53 Fridays in a Leap year is

e¥ 8 3o88,006" 53 HEmores oo Soprss Jot?

m 2 2) -f,— 3) @)

~l W
~ e
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11. The width of the class in the distribution having class intervals 1-20, 2110, 4.-60 is
1-20, 21-40, -41-60 BEKS wobtres SORS Dgre SQ5E" BUNS SMEY JoB?

(1) 19 (2) 195 (3) 20 4) 2b5

12. The arithmetic mean of the following data is

5+ 3ol Hgrodo GRosk, el Hogme

Class Interval 0-10 1020 20-30
GORS eelibo '
Frequency ) 14 6
PN
(1) 184 (2) 194 3) 124 (4) 154

13. If mean = 44 and median = 42, thicn mode =

colSgioe = 44 Bo0din Dol = 12 W0ND LuEe =

(1) 34 (2): 36 (3) 38 (4) 40

14. Which of the following is more consistent?

1 300 TE' DB Jupe JgdRcie?
(1) AM (2) Median (3) Mode (4) None
ol Hagisiso SoREo s UL 08 o
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(1) x2-x+3=0 (2) x2 +x+3=0

3) x2-x-3=0 (4) x%? +x-3=[0

16. log;g 125 + logy 8 =

(1) 1 (2) 2 . (3) 3 (4) None (98 )

17. The relation a(b + d = ab + ac is

alb + ¢ = ab + ac ©HRd Bod THIE' D AGLEPD, ANl

(1) commutative law (<) associative law
P08 G RS G

(3) distributive law (4) None
T G e vEREE ob oo

18. If n is a natural number, then 5" - 3" is always divisible by

n ba':' ﬂ m :-‘Oq:: m Sﬂ N :?“ﬂ -}Em -“n-u-nu-uuun--a mﬁm.

(1) 3 (2)/'5 | (3) 8- (4) 11 '

58
19. If /x + == = 31, then 'k =
Jx

-...-"E+5_B=31_ BSOS X =

J%

(1) 529 (2) 933 (3) 729 (4) 841
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20. If A and B are two sets then (A- Bn(B-A4)=

A %05 B ws Dot 3o8sEd (A- Bn(B- A) =
(1) A 2) B (3) AAB (4)_¢

21. The following Venn-diagram design represented by C equals

(1) {1, 2,5, 6 2) {6, 5,9
(3) {4, 5,6, 7) (4) {2, 546

22. The shaded area in the figure is

Beed® S Dbeds Debe
(1) An{BuC) (2) An(BnC)
3) Au(BNC) (4) Au(BUC)

23. The remainder of 3x° —2x2 + » + 2 wlien divided by 3x + 1 is

3x2 - 2x2 + x + 2% 3x + 13 irnoum S5 e

4 2 4
(1) 3 (2) 2 (3) " (4) None (26 zm)

24, If «, B are the roots of 5x +5x+6=0, then (1+a)(1+p)=

2 e =
Sx* +5x+6 =088 Yoowa, feovwak (1+a)(1+P)=

4 3 6
(1) 5 (2) 5 (3) s 4 -

| o

25, If the difference oi two numbers is 5 and their product is 84, then the numbers are

Totio Sopye Be J 900w oo B4 wouh e Sopen
(1) 14, 6 (2) 12, 7 (3) 21, 4 4) 14, 9
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26. If the perimeter of a rectangular room is 34 and the length of the diagons| is i3, then the
dimensions of the room are

By ST N8 BoepSlos 34 Bodain Sgo SEY 13 wons e 1o b
(1) 7,6 (2) 11,6 3 12,5 (4) 212, 6

27.1f 9x + 11ly= 51 and 11x + 9y =49, then x =
Ox + 11y = 51 28w 11x + 9y =49 woay x =7

(1) -1 (2) -2 (3) 1 4] 2
28. If the pair of equations gy x + bjy + ¢ = Oand agx + bpy+cy =V has unique solution, then

ayx + by + ¢ = 0 3088 agx +bay+cy =0 shontiere mos DI DS ol

(1) a.h | (2) i Y
aq bg as bz
b b |
@ et @) ThE—
2 G2 2 2

29. The graph of y+ x? =0 lies in the quadrants

y+ x* = 0 G, [ O dored’ Powod?
(1) &, Q2 (2) Q2 O3 (3) Qa, Q4 4) Q4. Q4
30. The line x = 2017 1s

x =2017 S
(1) Slope not defined (2) parallel to y-axis
Teo Wigddo 0 y-opas ShreBtc
(3) 1 and 2 (4) None
1 so8aias 2 0é oo
31 JE&+.,I’I-5+ 6 + =g
(3] 1 (22 (3) 3 4) 4
32. If x + L =2, then x2(s f = .
* 52
X+ =2 e —1"-_}-=
x -
(1) o @ 2 @ 4 (4) 8

33. The discriminant of the quadratic equation ax? + bx +c=0is

ﬁtgmﬁm ﬂ‘t.'i + bx +c= 0 0%, :J:;Eﬁ =
(1) b2 - dac (2) a® -4bc (3) ¢* —4ab (4) None (28 =mo)
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34. If oo, B are the roots of x2 +2x +5=0 thenE+E=

o
o, P x2 +2x + o = 0 Gl Sorogn %-&-E:
o
6 =) 6 4
1} = %) i 8 ~= o
(1) : (2) z (3) g (4] 5
35. Which is the three digit number divisible by 772
78 Lot Sari: wclo oy
(1) 100 (2) 133 (3) 137 (4) 143
36. The 6th term in the GP 2, 8, 32, -« is
GP (fomB&) 2, 8, 32, --- 68 60 nuEw
(1) 512 (2) 128 (3) 204¢ (4) 256
37.1+1+1+4--n terms =
141+41+-n S0P =
n-—1 o n+1
1 3 @ = @ n @ —
38.1+3+6+10+:--n terms =
1+3+6+10+---n Soren =
n+ljn+2 n+1)n+2
q Tt e+ o) Mt )
4 8
[31 nin + lin + 2) (4) None (08 %)
6
39. If (k, 2) lies in 1l quadrunt then (-k, - 2) lies in the quadrant
(k, 2) Bos Mses® oif (k-2 ses® possse.
(1) 1 @f 1 (3) I (4) IV

40. The point of inlcricction of the lines 2x +3y-5=0 and 3x-4y+1=0 lies in which
guadrant?

2x + 3y — 5=0 5:0cin 3x -4y + 1= 0 & pois Dofoy 2 Med' Powwod?
(1) 1 (2) 1 (3) 1 @) v
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41. (0, 0}, (1, 0), (O, —4) are the vertices of a triangle.
s (0, 0), (1, 0), (0, —4) & Dpd ©gowo
(1) equilateral (2) isosceles
0L SRt S
(3) right-angled isosceles (4) right-angled
SRl wows'e voesS'es
42, 1If (8, 1), (k, —4), (2 - 5) are collinear, then k =
8 1), (k, ~4), (2~ 5) o 5089785 ke =
w1 @2 @ 3 @ 4

43, If the slope of the line through (2 — 7) and (x, 5)i1s © thcn x =

2, — 7) 2085 (x, 5) oo ks Op o, T 3 wowid =

(1) 4

(2) 5 (3 € 4) 7

44. The distance between the points (cos8, sii® and (-sin®, cosb) is

Dodioes (cosb,

()y 1

sin B) Wo0cais (-sinb, cosb) e w5, &0 0o

(2) 2 (3) 2 (4) 3

45. The number of elements in a triangle i

Lﬁﬂi:aéﬁa Haresre Sogy

(1 3

46, In the hgure
Besadt

(2) 4 (3) 6 4) 5

Fi &
“\
f

/ '\
_M} | A N
B /

c

if MN||BC, AN - 3, NC=18, MB=24, then AM =

MN || BC, AN = 3, NC=18, MB=24 waws AM =

(1) 2

(2) 4 (3) 6 (4) 8

2017-S2/2-B
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47. If two triangles have the same base and area then they lies between

X PN Bodcin PTRw0 HEPHOI P, O Dgbmey B od TiE" B Bogp o aw

(1) parallel lines (2) two straight lines
SEToBy Ogpeo Both 358 Spes

(3} perpendicular lines (4) intersecting lines
sow Opaw Foiss Do

48. A 1-0 m tall boy casts 2 m shadow. At the same instance, a lamprost caits a shadow of 10 m.
Then the height of the lamppost is

1'5 m 280 o o8 wreotis 2 M DEY Mo wEH D600 b Mbadibes® 10 m &P fo AEse D500 b
Ssowe JBoB?

(1} 65 m (2) 75 m (3) 85 m (4) None (28 =&0)
49, In the figure, x =

A
o5*
8 1] __I
0 .
B C
‘..5::-.‘:::»5G X =
C
(1) 45° (2) 135 (3) 90° @) 15°

50. In the hgure, x =

Seod® x =
(1) 100° (2) 90° (3) 110° 4) 80°
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51. In the adjacent figure, x =

7 cm D
Pe ]
5 cm AWB
55, S8 x =
(1) 58 cm (2) 68 cm (3) 48 cm (4) 38 cm

52. The length of the minute hand of a clock is 21 cm. The civi swept by the minute hand in
20 minutes is

nAcirted’s dtore PASEY) Sy 21 cm. 20 Nodred® Dol wores OOMS (el JTwmad
(1) 462 cm? (2) 362 cm? (3) 562 cm? (4) None (286 o)
53. A secant intersects the circle at noiil(al

SES Tp STy Iy Deloye Sl poldyed

(1) single (2) two (3) three (4) None

PR=Th St [amess wh s

54. How many tangents car be drawn to a circle from a point outside the circle?
&3 iy Dotk Mool DT S HTOPe Sovs

(1) 1 2y 2 (3) 3 (4) None (28 o)

55. If a sphere, @ cylinder and a cone have the same radius and same height, then the ratio of
their curved surface areas is

Rloo, Sois Wb Tepspes 13 Tt Bl oy DA Yol T3 Jte PEoe DN

(1) 2:45:4 (2) 4:4:4/5 (3) 3:45 :4 (4) None (28 mx)
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56. The volume of the cone =

Togohy ool JoRNdNrme =

4 o 1.0 2 i 18

(1) Smr @ Snr h (3) mrh (@), 5 nh
57. If the diagonal of a cube is 44/3, then the side of the cube it

Bopote dlaoky, Ko 44/3 waasd o gome

(1) 1 (2) 2 (3) 3 (4) 4
58. If the volume of a hemisphere is 19404 cm  then its radius is

opfitvo G, Wwsree 19404 cm® woass o s

1y 7 (2) 14 38) 21 - (4) 28
59. If x =cos® + sin® and y=cosf - sint, then x2 4 y? =

x =cosb + sinB $:8cio y=cosb - sinH wadd x? + yz =

1) 0 B 1 3) -1 (4) 2
60. sin{A + Bjcos{A I +sin{A- Bjcos (A+ B =

(1) sin2A (2) sin2B8B (3) cos2A (4) cos2B
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SECTION—II : PHYSICS (5% 7%0)
61. The magnetic field is called uniform if
eocoam, 00 FRBH00 it WIS aowned

(1) strength and direction of magnetic field are changing
edhIMob ST won Wik 0F BrBsnE»E

(2) strength and direction of magnetic field are constar .
Aot EB pekey Bodctin B¥ oM Gt

(3) only magnetic field strength is constant
Eoen eoLIMoD FB Lo HENTY Gy

(4) only direction of magnetic field is constant
oot waiodnod SR 0F oM aRpEitd

62. Which of the following equations is coitect in electromagnetism?

DRI SBBFHI Sowofod B1 o T L0 SOEIA?
(1) F= qu" - Q) FE (3) F=quBsin8 (4) F=quvBcosb
8111 L

63. In which of the follcwing electric energy is converted into mechanical energy?

51 Bon TxIE' Do AT HrodE M DB BIUP?

(1) Galvanometer (2) Ammeter
o et SETIELY

(3) Genierater (4) Electric motor
piiiBest DD IS

[
-l e e i o el e o o e et ek Daw gk b Seml B
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64. Whenever there is continuous change of magnetic flux linked with closed coil, a current 1s
generated in coil. This is

Sisons® eciodmol et DB SPEOET Gofl o Siftogd® NS ETENSL KhHE wel. 30

(1) Lenz’s law (2) Ampere's law
Bok Dousnanm esohaixb Daisnn

(3) Faraday’s law (4) Ohm’'s law
B DoINEsE £.55 RooEan

65. A conductor of length 1 m moving with velocity V perpendicilar to the magnetic field of

strength 10 tesla induces an e.m.f. of 10 volt. Then V=___ mys

o Doty DY e TEES® 10 8 wdhdmet o wodd cona Arseed’ 5088 10 edo dsSTHRE
penw (HiENcs V= m/fs

(1} 100 (2) 10 3 1 4 01

66. The peak value of alternative current is 2 apere. The r.m.s. value of current is
ampere.

DBy DExd a0 o, KOH Jusd 2 esoc o o uH T.m.s. MEND Jesd esshabbew,

1 1
2 3) — g} —
(1) 2 2) 2v2 (3) 7 (4) 7
67. Magnetic flux density (B} =
sabdet e JoEd (B) =
(1) Area 2 1#;1 ath
Magnetic flux Magnetic flux
.. FERD
esctibam ol efTmiinn Fhowtte Yo WETAN A AL
3) Main;ﬂc flux ) Magnetic flux
gth Area
tad e e eociam ol TN
Sl o

o
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68. A light ray incidents on a plane mirror at an angle 33°. Then what is the angle of reflection?

18 Ted 35mian 33° Frind’ Siote Shensnd SEIRN, JoWNEe Doas Ted Avees St -

(1) 66° (2) 33° (3) 22° 4) 11°

69. Which of the following is used by the dentists?
Ge B0 TIE” 1ol Pl EXEIACSE

(1} Convex lens (2) Concave lens
Dogrsl Sele RRPFTO Heodo

(3) Convex mirror (4} Concave mirror
Dogrd Sthraa AT SRt

70. Which of the following is true in case of virtual image?
gy Bohon Dped® He Bod TmI6° DO MOFLNAY

(1) Always erect (2) Always inverted
SOHRER DRORIPTE SeSpir Sudolao

(3} Obtained on screen (4) None of the above
B B8 5y 08

71. An object placed at a distance of 30 cm in front of a concave mirror of focal length 20 cm. The
image is formed at a distance of

20 %ot PHOBUC Mo PAFTE Shessn Baets 30 2e.bs. Sres’ SRR doln, BBdon SrEEL

(1) 60 em (2) -60 cm (3) 30 cm (4) =30 cm
60 o.bv. 60 oo, 30 wo.bo. =30 0.2,

72. Every lens has focal points.

@ﬁﬁmﬁéﬁaﬁmmmﬁ

(1) one (2) two (3) three (4) infinite
£.Xad =1L bt enode

SPACE FOR ROUGH WORK / Duusd8 Serononeds osn
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73. The radii curvatures of a double convex lens are 10 cm and 10 ¢m. Its refractiv= inacx is 15,
The focal length is

L DEOOEID KuNiw @, SEST Terered 10 Be.d. Wwidke 10 he.dd. o Slersn oemre 1-5 woasd

(1} 10 ecm 2) 01 cm (3) 001 cm (4) zero
10 7s0.20. 0-1 o.. 0-01 0.00. Rttt

74. An object is placed 10 ¢m from a converging lens of focal lengtii 10 cm. The image is formed
at a distance of

10 0.2, TEPosto fe L¥ Sofstm Nossw Wod 10 Bo.do. EMENCT 0¥ SRR &olh MGG Bolew

EPEaa
(1) 10 cm (2) 20 cm (3) 100 enm (4) o=
10 Teo.0. 20 To.a. 180 ek, oa

75. A convex lens is placed in water. The focal length will

LY Soogrml Yooy DO6° S0l SwSte ook, Yoty

(1} remain same 2! decrease
pehelat amnm

(3} increase (4) None of the above
TisToB0 TR T

76. A light ray incident on curved sufacc travelling from rarer medium to denser medium bends
the normal.

SEBeSND DESANH ToOIHBN L ULESe Hod Polptl aImicERd FEairriolNNN corRat
Toune otatood.

(1) towards (2) ~way from (3) parallel to (4) None
s Mo HaToBSem 8 s

77. Which part of human eye is called ‘variable aperture™
S Bang® AU0 MDiho@ed TR eoads?

(1) Retina (2) Comea (3) Pupil (4) Lens
B e 53028 BeaiSa

SPACE FOR ROUGH WORK / D8:%08 Surorounds Hosw
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78, In case of eye defect called ‘myopia’ image forms

CEPR &Y HREs” FEaDonian Diht &6

(1) after retina (2) before retina
ol wnd nest edor ooy e &
(3) on retina (4) None of the above
Bl Dt B0 TR

79. In prism experiment, the i-d curve looks like

¥ BN PAMeE’ i-d SiFe D Mo dowed

(1) straight line (2) cwrcic
S e

(3) parabola (4) ellipse
SovHedize 63 s

80. The splitting of white light into different colou's is called

el Ted MDD Uorbeom ARG Bl | ecowh.

(1) dispersion (2) scattering
SESewsas SeFsena

(3) refraction (4) reflection
Sdgsse SOVSEIH

=

81. Which of the following mclecules in atmosphere are responsible for blue colour of sky?

TSRS’ T (300 D erriihe S esmve HD Gl desen?

(1) H,, Cl, ) lie, H, (3) CQ, SO, (4) Ny, O,

82. Light is a/an

Tl wond

(1) longitudinal wave (2) stationary wave
SRODY - Yo 20 Blicho

(3) electroinagnetic wave (4) None of the above
DL oMol BUolo o8 =

SPACE FOR ROUGH WORK / w5908 Swrawotieds Ponw
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83. Which of the following is true for conductor-like metals according to Lorentz-Drude theory?
6Bk Bodcin (rE podEse @rﬁaé‘:&wﬁmﬁﬂmﬁ‘%@mmmm@_ﬁﬂ

(1) Negative ions are fixed (2) Positive ions move
20007 OO0 PUSTP SowPom &9 ediFoes BbJaw

(3) Positive ions are fixed (4) None of the al uve
8007 SATFRIL PO doLrom 28 T

84. The SI unit of potential difference is

2BYad Soe Gy, SI (Esovenna -

(1) coulomb (2) wolt
(3) ampere (4} MNone of the above
esoncieb SO

85. In case of non-ohmic materials, the V-I grar! is

©-E0h ST Soweded, V-I My

) I

1 I @ 1

V—> | | V—>
3) - (4) :

v—> T v

86. The resistance of condnlor depends on

&Y TS0 Glof), 0% . Dol wptind docsed.

(1) length (2) cross sectional area
P St PTess

(3) temperatic (4) All of the above
S O el

SPACE FOR ROUGH WORK / D828 Saronebeds Sosw
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87. Two resistors are connected in . Then same current flows through 'wo resistors.

Bothy DG ™ 50, Dot A6%Pe Moke 68 Do [ESinied.

(1) series (2) parallel
@ris’ SareBEan

(3) series and parallel (4) None of the abuve
Re36® Bobain HaroBbem Db T

88. Three resistors, 2 ohm, 3 ohm and R ohm are connec ¢d in seéries to a battery of voltage 20 V.
If the current through the circuit is 1 ampere, then thc value of R is ohm,

2 &9y 3 S0 Wwlakn ‘R LD Deostes o W Aprois (e 20 V 582 e onedl 50by Seabes®
1 esodoiob Mud ESiredn ‘R G, Deosd Emato,

(1) 5 (2) 10 @) 15 (4) 25

89. Apply Kirchhoff’'s junction law and i i; value of the following figure
Bod DPBE" 6TH wols oHErY EBEIIED 4" DeoEEe BN -
I =2 A

is=1 A
1% A

i4=10 A

(1) 19 A 2) 5A (3) 2A 4) 1A

90. Which of the fcllowing is correct regarding electricity?
DEnE% Sorafon 1 300 DR6° DA $OAHHT?
IE

& - 2 _
- @ P== (3) P=V2R (4) P=VIR

SPACE FOR ROUGH WORK / 28308 Sroaotedd Sebss
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SECTION—III : CHEMISTRY (braisi T°0)

91. The bond angle in C;H, molecule is

CoH, eropé® wogsiemo
(1) 109°28’ 2) 120° (3) 180C° 4) 67

92. Esters are derivatives of

Ji5ben 3od TRIET I8 SvEnen

(1} ketones (2) alcohols
85%en s tun

(3) ethers (4) carbox)ylic acids
Sabes =on3. B8 DL

93. The name of the structure CH;—CH=CH=CH, is
CH;—CH=CH=CH, &1 53550 bt

(1) butene (2) Tata-1,2-diene
WD B -1 2-B0aPR

(3) butadiene i1 1,5-butadiene
DPUITOIPD ¢ 3-5::‘&?_3_&::‘5

94, Which of the following organic compounds 1inlergoes substitution reaction?
200 36 D B0 Sorgnn EIFNe WE° IEcinsdy

(1) Alkanes (2) Alkenes
Eﬁbﬁam Hél;;uﬂb
(3) Alkynes (4) All
T o 228 e s thy

95, When dilute hydrochloric acic = added to iron fillings

Sre PEOE eBnrls FRosteiwn SohT Do nibiteod? .
(1) hydrogen gas and iron chioride are formed
265 SBE Dnd, EES Ty Desksetoed
(2) chlorine gas and iron nydronide are formed
=08 pE2LE Dk, 500 Sraep Dessesocd
(3} no reaction tal=s place
Jorord BUs wiings

(4) iron salt ana water are produced

20O wdese Sulain Dty DR
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96. pH scale is introduced by

pH T80 @dvds g

(1) Sorensen (2) Mosley
MSSS 2

(3) Schrédinger (4) C. V. Rarian
Eonb N D TSen

97. Which principle states that “No two electrons of 'he saine atom can have all the four .
quantum numbers the same”?

B5 STAPERPER D Bots IO 4 Tiowso Sopwo HATSON 4055) BOALEL A0 ....

(1) Pauli’s (2}, _Aufbau
2 e

(3) Hund’s (4) Bohr's
ook, &6

'98. The coordination number of Nat i MaCl is

NaCl Hoto Na ™ $soich Sogy

(1) 3 (2) (3) 5 (4) 6

99. Who proved that vital Tice theory’ is not correct?

2563 DopoBo BiHD 1 hol ST

(1) Berzelius (2) Linus Pauling
B8O 850 PDeh

(3) Woliler (4) Dalton
S5 ek
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100. Which of the following reactions is exothermic reaction?
B+ [Bod Dows’ DO GERMSY 155?
(1) C+0, =2 CO, {2) N, +05 = 2NO

(3) 2AgCl = 2Ag+Cl, (4) Zn+2HCl — ZnCl, +H,

101. Gram-molar volume is equal to

s 2red Ponndaoee 300 owdE® A0 HeHna?

(1) 20 litres (2) 2-24 litres (3) 224 litres (4) 112 litres
20 b. 2:24 b, 22-4 b, 112 &,

102, In the reaction Na + H,0 — NaOH + H, T, how man. mo!s of Na and H,0 react together
to form NaOH and H,?

Na + H,0 - NaOH+ H, T 56:8° Na 508cia0 HyO 20 3réyé 3Soamonn?

(1) 2,2 2) 2,1 Y n B @ 1,2

103. Phenolphthalein indicator gets pink colour i
»sbS 2ry god E08° oD BolE® o

(1) HCI solution (2) NaOH solution
HCIl graese NaOH gieews»
(3) H,50, solution [4) CH;COOH solution

104. HCI solution with Na,_0O+ and NaHCO; produces

Na ,CO; 208cin» NaHCO e HC 55y edAsiyts #od Twis’® D& Dntatood?

(1) H, gas (2) NaH (Sodium hydride)
Hy orainiy NaH (¥&awo 1p@é)
(3) HoCO4 (4) CO, gas
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105. Milk of magnesia i1s

m%uﬁkfnhﬂﬁ?wﬁ

(1) MgO (2) Mg(OH), (3) MgCl, (4} MgHCO;),

106. Which of the following quantum numbers describes the orientilion of orbital in space around
the nucleus of atom?

Bod THIE® O Trewy Hogy (G AT MHl0D JB8iea?

(1) Magnetic quantum number

WAIMeB SHeLD0 How;

(2) Spin quantum number
1?;5 5‘_54.':-&:5: Sy

(3) Azimuthal gquantum number
Sian wnain myends oy

(4) Principal quantum number
ST heens Bog

107. The maximum number of electrons il i = 3 main energy level given as
SEH Tpws Sops n = 3 6° e Jo Sop
(1) 8 (2) 46 (3) 18 (4) 32

108. Modern periodic law states tha. the properties of elements are functions of their

e3Go0E eSSl BOY EISL 0 uso O, SHYE Fones 30068 T8 el Fhaire

(1) atomic weights (2) -atomic number
SESTER (SE0R S Sow

[(3) electronic cunligyi rations (4) Both (2) and (3)
e Imse (2) HoOcin (3) ¥Ob

109. Which of the llowing is the p-block element?
300 T%35° L p-erf Sareomse?

(1) 4 (2) Ce (3) Ga 4) K
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110. How many s-block elements and p-block elements are there in the third jeriod of the
periodic table?

SHES HPFEN BarES HOGES' Y b Wlay pb Bareses ¥ug?

(1} 2,8 2) 8, 2 (3) 4,4 (4, 2,

o

111. Metalloids are

wg-é‘:'ﬁm TR

(1) s-block elements (2) d-block elemiciils
S5 Sarezres d+75 LiuTes

(3) f-block elements (4) p-bloCk eclements
f- 75 Barozren PP Sapered

112. The ionization energy in the periodic table

PSS Darese wedbastes %3

(1) decreases go down the group

rRE” 3003 Mok F9 BRBood

(2) increases go down the group
ErRE® 3008 Fed 579 WroILBRd

(3) decreases from left to right in a pciind
SOAHES' e Wood DA BHBocd

(4) remains same go down the groun
a6’ e oo

Fe

113. Which of the following elerier i lose three valence electrons to get octet in its outer shell?
2o0 Tx36° D Baressn 3 Jugvem SEhon B9 o 1vest ey aErd, FetBed?

(1} Cs £) Mg (3) O (4) Al

114. The element with negative charge having the electronic configuration 2, 8, 8 is

300 TG JorRE Sangsia 2, 8, 8 OAS maor WSt &% SoruNiw DO

(1) 0% (2) C1” (3) 8%~ 4) P3°
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115. The condition for the formation of ionic bond is

PR welse DthEse S0 O woisp SPUHLBN?

{1) elements involved should be of equal size
o3 SEaren BEPme DA Mrese S

(2) high electropositivity of atoms
e eatiioy ) DRSNS Saremos

(3) atoms should have low ionization potential

Bind obIsn ¥ Sarores SO Pood

(4) elements with high electronegativity difference
DaPeTo Solly S BT B SOA Yoo

116. The molecule involves sp° hybridization is
B0 36" sp? oS Ly YOAS vesy D0

(1) CH, (2) NHj (8)4H,0

117. Ionic compounds are soluble in
Beh >36° B26° wairlf ooy Stolborax |
(1} benzene (2} CCly (3) kerosene
Bodd oo

118, Camnallite is the ore of
SRS o) B0 TW3E’ D Baretin ol HofRrotintatiood
(1) Pb (2) Mg (3) Hg

119. Thermite reaction involvos reaction of metal oxide with
FonS BB & BEads D arussnd e e BEE SN
(1) Ag (2) Fe (3) Al

-——

(4)

(4)

(4)

(4)

Al (w2ye7)

water
et

Zn ”

Hg

120. How many unpaired electrons the carbon atom possess in the ground state?

grrond® SNES B55es’ 2 eedd Jogites dowrown?
(1) 2 (2) 3 3) 4

* hk

(4)

1
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